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7 100kN/ Mm% 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 435 54.26 | =nS | 000 ~ 4.35| 1.97 10.56 st 1.00 | 6.00 ~ 5.00 54.26 | =hLS | 5,00 ~ 56.00)| 1.97 10.56
2 100kN/m%E#8z5 | 1.00 | 000 ~ 256 140.15 |3mZEEBZB| — ~ — — — | 100kN/ %825 | 1.00 | 1055 ~ 2239| 140.15 |3mE#BZ5 - ~ — — —
s 1.00 | 266 ~ 1034 100.00 | NSt | 000 ~ 1031]| 267 14.29 st 1.00 | 6.00 ~ 1055 100.00 | =nhst | 6.00 ~ 2239| 2.67 14.29
3 100kN/m%E#8z5 | 1.00 | 000 ~ 292 14623 |3mx#8z3| — ~ — — — | 100kN/ %825 | 1.00 | 1059 ~ 2720| 146.23 |3m&E#BZ5 - ~ — — —
s 1.00 | 292 ~ 1070 100.00 | NSt | 0.00 ~ 1070] 2.98 15.93 st 1.00 | 6.00 ~ 10.59 100.00 | st | 6.00 ~ 2720| 2.98 15.93
4 100kN/m%E#Z5| 100 | 000 ~ 282 14462 |3m&EEZB| 000 ~ 088] 3.38 18.08 | 100kN/m%#825 | 1.00 | 11.27 ~ 4796 | 144.62 |3m&E#BZ 5| 20.00 ~ 47.96| 3.38 18.08
s 1.00 | 282 ~ 1061 100.00 | NSt | 0.88 ~ 1061 3.00 16.05 st 1.00 | 6.00 ~ 1127 100.00 | =nhst | 6.00 ~ 4000 3.00 16.05
5 100kN/m%#8Zz% | 1.00 | 000 ~ 299 | 147.64 |3mE#BZ%| 000 ~ 1.84| 3.77 20.15 | 100kN/mi#%#825 | .00 | 11.10 ~ 5608 | 147,64 |3m&EBZB| 4000 ~ 5608\ 3.77 20.15
s 1.00 | 299 ~ 1078 100.00 | NSt | 1.84 ~ 1078 3.00 16.05 st 1.00 | .00 ~ 1110 100.00 | =nhst | 6.00 ~ 4000 3.00 16.05
P 100kN/m##8Z25 | 1.00 | 000 ~ 299| 147.54 |3mEBZ3B| 000 ~ 094 | 3.41 1825 | 100kN/m%#8z25 | 1.00 | 11.10 ~ 56.08| 147564 |3m&EfBZB| 2000 ~ 56.08| 3.41 1825
s 1.00 | 299 ~ 1078 100.00 | NSt | 094 ~ 1078] 3.00 16.05 st 1.00 | .00 ~ 1110 100.00 | =4t | 5.00 ~ 4000 3.00 16.05
- 100kN/m%E#BZ5 | 1.00 | 000 ~ 290 14588 |3mE#BZD| 000 ~ 1.80| 374 20.01 | 100kN/m%Z#BZ% | 1.00 | 11.23 ~ 60.04| 1456.88 |3m%EHBZ S| 42000 ~ 60.04| 3.74 20.01
s 1.00 | 290 ~ 1068 100.00 | NSt | 1.80 ~ 1068 3.00 16.05 st 1.00 | 6.00 ~ 1123 100.00 | =4t | 6.00 ~ 4000 3.00 16.05
P 100kN/m%EBZ5 | 1.00 | 000 ~ 285 1456.05 |3mE#BZD| 000 ~ 1.78| 373 19.95 | 100kN/m%E#BZ5 | 1.00 | 11.29 ~ 5986 | 145.056 |3mERBZDB| 40.00 ~ 59.86| 5.73 19.95
s 1.00 | 285 ~ 1063 100.00 | NSt | .78 ~ 1063 3.00 16.05 st 1.00 | 6.00 ~ 1129 100.00 | =4t | 5.00 ~ 4000 3.00 16.05
9 100kN/m%E#BZ5 | 1.00 | 000 ~ 285 1456.05 |3mE#BZD| 000 ~ 1.78| 373 19.95 | 100kN/m%E#BZ5 | 1.00 | 11.29 ~ 5986 | 145.056 |3mERBZDB| 40.00 ~ 59.86| 5.73 19.95
s 1.00 | 285 ~ 1063 100.00 | NSt | .78 ~ 1063 3.00 16.05 st 1.00 | 6.00 ~ 1129 100.00 | st | 6.00 ~ 4000 3.00 16.05
10 100kN/m%E#Z5| 100 | 000 ~ 266 141.90 |3m&E#ZB| 000 ~ 1.70]| 3.68 19.72 | 100kN/m%#825 | 1.00 | 11.57 ~ 61.74| 141.90 |3m&E#BZB| 20.00 ~ 61.74| 3.68 19.72
s 1.00 | 266 ~ 1045 100.00 | NSt | .70 ~ 1045| 3.00 16.05 st 1.00 | 6.00 ~ 1157 100.00 | =4t | 5.00 ~ 4000 3.00 16.05
11 100kN/m%E#Z5| 100 | 000 ~ 283 144.77 |3m&E#EZB| 000 ~ 088] 3.38 18,10 | 100kN/m%#B25 | 1.00 | 11.25 ~ 4740\ 144.77 |3m&E#BZB| 20.00 ~ 4740| 3.38 18.10
s 1.00 | 283 ~ 1061 100.00 | =Nt | 0.88 ~ 1061] 3.00 16.05 st 1.00 | 6.00 ~ 1125 100.00 | st | 6.00 ~ 4000 3.00 16.05
100kN/mM%E{BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ ImERBZD ~
zhst ~ ZFhst ~ Fhst ~ Fhust ~
100kN/mM%E{BZ 5 ~ 3ImEEBAD ~ 100kN/m%#B% % ~ ImERBZD ~
zhLst ~ FhLst ~ FhLst ~ ZFhLst ~
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